

DEPARTMENT OF AGRIL. EXTENSION EDUCATION

DR. PAJNABRAO DESHMUKH KRISHI VIDYAPEETH

KRISHINAGAR P.O., AKOLA 444 104 (Maharashtra)

Phone: (0724) 2258354 E-mail: extnhdpdkv@gmail.com, hdextension@pdkv.ac.in

Date: 04/01/2024

No. HDEE/ STORE/894/2024

QUOTATION NOTICE

To,	

Subject: Quotation for work of providing and Fixing aluminum partitions in the Hall of Department of Agril. Extension Education, Dr. PDKV, Akola

Sir,

As per the subject cited above, quotations are called for the work of Providing and Fixing aluminum partitions in the Hall of Department of Agril. Extension Education, Dr. PDKV, Akola. The detailed specifications of work to be done is placed at Annexure A. While quoting rates the instructions, terms and conditions given on in the notice may please be noted carefully.

The quotations should reach in the office of undersigned on or before 16/01/2024 up to 5.00 pm.

Head

Department of Agril. Extension Education Dr. PDKV, Akola

Copy

The Officer Incharge, ARIS, Dr. PDKV, Akola with request to upload on University Website.

ANNEXURE A

Name of Work: Providing and fixing aluminum partitions in the Hall of Department of Agricultural Extension Education, PGI, Dr. PDKV, Akola

Rates should be quoted @ One Square Meter considering following technical specifications.

Item No	Item of Work		No	Length	Breadth	Height	Quantity
1		3	4	5	6	7	
1	Item No.1:- Providing and fixing in position anodized extruded aluminum partitions, partly glazed and partly laminated having frame made out of extruded tubular section of size 40mm x 60mm with 12mm thick three layered flat pressed teak wood particle board bonded with BWP type exterior grade phenol formal dehyde syntheticres in conforming to IS128231990,laminated on both sides, Nova teakor equivalent and 5mm thick selected quality plain/float glass panels fixed with aluminum glass clips12mm x12mm and rubber cushioning beading to glass partitions as per approved drawing etc. compete.						
	Room No. 1	Partition	1	4.05		3.00	12.15
	Room No. 2	Partition	1	1.11		1.21	1.34
		Partition	1	0.90		3.00	2.70
	Room No. 3	Partition	1	7.40		3.00	22.20
		Partition	2	3.00		3.00	18.00
	Mean Gate	Partition	1	2.74		3.65	10.00
						Total - A	66.39
		Deduction door	1	1.58		1.85	2.92
		Deduction door	3	0.90		2.40	6.48
		Deduction door	1	1.52		1.98	3.01
						Total - B	12.41
					То	tal A-B	53.98
	Rates @ One Square Meter: In Figure Rs In Words (

Item	Item of W	ork	No	L	Length	Breadth	Height	Quantity
1	2		3		4	5	6	7
2	Item No.2:- Providing and fixing in position, Single shuttered aluminium extruded powder coat openable door of over all size 0.90 m x 2.40 m with aluminium door frame of powd coated section 101.0 x 44.75mm, 3.18m m thick and shutter comprising of powder coat section having bottom and lock rail of size 150 mm x 44.5 mm x3.00 mm thick top ra 47.62 x 44.45 mm x.00 mm thick, vertical style 47.62 x 44.45 mm, 3.00 mm thi ck and fishutter plain glass panes 5mm thick for top panels and 12mm thick both side laminat phenolbo nded particle board panels for botto panel setc., I.S.I. mark, with bijagiri havineavy duty concealed lock, necessary beading, glazing clips, PVC gaskets, 250mm leng tower bolts, 150mm diam. padhandle, e tc. as per detailed design and drawing or as direct by engineer in charge including all materials, labours, and equipment etc. complete					e of powder wder coated ick top rails ick and for e laminated agiri having Omm length r as directed		
	Room No. 1	Door	1		0.90		2.40	2.16
	Room No. 3	Door	3		0.90		2.40	6.48
		Door	1		1.50		1.98	2.97
							Total - A	11.61
	Rates @ One Square Meter: In Figure Rs In Words ()
1	2			3	4	5	6	7
3	Item No.3:- Pa	rtition Dism	antle an	d Rei	nstallatio	n labor charge		
	Room No. 1	old partition	on	2	0.91		3.00	5.46
	Room No. 2	old partitio	n	1	2.46		3.00	7.38
		old partition	on	1	4.87		3.00	14.61
							Total - A	27.45
		Deduction d	loor	1	0.90		2.40	2.16
							Total - B	2.16
						Total A-B 2		
	Rates @ One Square Meter: In Figure Rs In Words (

Item No.			No	Length	Breadth	Height	
1	2		3	4	5	6	7
4	Item No.4:- Door Dismantle and Reinstallation labor charge						
	Room No. 2	old Door	1	0.91		3.00	2.73
						Total - A	2.73
	Rates @ One Square Meter: In Figure Rs In Words (

ABSTRACT OF ITEMWISE RATES

Sr.	Item of Work	Appro.	Unit	Rate per Unit
No.		Quantity		(Rs.)
1	Item No.1:- Providing and fixing in	53.98	@ One Square	
	position anodized extruded aluminum		Meter	
	partitions			
2	Item No.2:- Providing and fixing in	11.61	@ One Square	
	position, Single shuttered aluminum		Meter	
	extruded powder coated openable door			
3	Item No.3:- Partition Dismantle and	25.29	@ One Square	
	Reinstallation labor charge		Meter	
4	Item No.4:- Door Dismantle and	2.73	@ One Square	
	Reinstallation labor charge		Meter	

Signature :
Name :
Address :

TERMS AND CONDITIONS FOR SENDING QUOTATION

- 1. The quotation should be sent in sealed envelope in the name of Head, Dept. of Agril. Extension Education, PGI, Dr. PDKV, Akola(MS) 444104 .The Details of the quotation submitted for should be mentioned on the envelope.
- 2. Quotation should reach this office on or before date **16 /01 /2024** at 5.00 pm. Quotations received after the due date will not be considered.
- 3. The rates quoted should be valid for a period of 06 months from the date fixed for opening of the quotations. (The time period for which the quotation will valid should clearly be mentioned If necessary for any item.)
- 4. Rates should be inclusive of C GST and S GST. (Mention the GST No. in the quotaion)
- 5. Prices/rates quoted should be "ALL INCLUSIVE" including of all taxes, levies, expenses, tariffs etc. and **FOR** at Dr. PDKV. Akola.
- 6. Detailed technical specifications of the work is mentioned in the quotation notice, but bidder may visit the actual site before quoting the rates.
- 7. Conditional quotations received are liable to be rejected without any reason.
- 8. Final payment will be made after completion of the work.
- 9. The work mentioned in the quotation notice may be increase or decrease as per requirement of the Department of Agril. Extension Education, PGI, Dr. PDKV, Akola.
- 10. The undersigned reserves full right to reject any or all quotations without assigning any reasons thereof.

Head

Department of Agril. Extension Education Dr. PDKV, Akola

Check List of documents to be submitted with the tender and the general information to the Contractor for Submission of tender.

The following documents should be submitted in duly attested along with list of all documents.

Sr.	Brief details of documents required to be attached.	Whether enclosed/
No		or not
1.	Attested copy of the valid registration certificate Shop license with	
	the Government of Maharashtra	
2.	PAN Card.	
3	GST Certificate	
4	IGBC Certificate	
5	Attested Copy of Annual Turnover Certificate of previous three	
	years up-to last audited financial year / latest 3 years IT return.	
6	Copies of similar work completed with work done document	
7	All pages of tender document are to be signed and uploaded	

Note: - Contractor has to quote his offer both in figures and in words

Signature:
Name:
Address :